

BID2020-70 PURCHASE AND DELIVERY OF UNPUBLISHED ITEMS AND PARTS FOR A CUSTOM PUMPER FOR THE CITY OF TRENTON, DEPARTMENT OF FIRE AND EMERGENCY SERVICES BID OPENED 10/20/2020 AT 11:00AM

BID2020-70 PURCHASE AND DELIVERY OF UNPUBLISHED ITEMS AND PARTS FOR A CUSTOM PUMPER FOR THE CITY OF TRENTON, DEPARTMENT OF FIRE AND EMERGENCY SERVICES	
NUMBER OF RESPONDENTS:	1
NAME OF BIDDER	KOVATCH MOBILE EQUIPMENT CORPORATION DBA KME FIRE APPARATUS
ADDRESS	ONE INDUSTRIAL COMPLEX
CITY, STATE, ZIP	NESQUEHONING, PA 18240
CONTACT NAME	RYAN SLANE
TELEPHONE	570-669-5591
FAX	570-669-5124
E-MAIL	<u>RSLANE@KMEFIRE.COM</u>
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED
REQUIRED EVIDENCE EEO/AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY LANGUAGE EXHIBIT A	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA	N/A
NJ BUSINESS REGISTRATION CERTIFICATE	INCLUDED
NJ PWC REGISTRATION CERTIFICATE	
NON-COLLUSION AFFIDAVIT	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED
DEBARMENT NOTICE (REQUIRED)	INCLUDED
ETHICS COMPLAINT DISCLOSURE	INCLUDED
EQUIPMENT CERTIFICATION	
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED
EIC	CERT.#4568 EXP. 08/15/2022
60-DAY EXTENSION COMPLIANCE	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES
CERTIFICATE OF INSURANCE	REQUIRED PRIOR TO AWARD
REFERENCES	N/A
UNPUBLISHED ITEMS AND OPTIONS TOTAL	\$171,080.46
W-9	N/A
EXCEPTIONS (IF ANY)	NONE
FATAL FLAW	NONE

DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE
As-Built Wiring Schematics	1	\$320.91	\$320.91
Battery Access Doors - Rear Step Wells Each Side	1	\$633.64	\$633.64
Aluminum Tread Plate Step Well Riser, All Steps	1	\$601.96	\$601.96
Rear Cab Fold Down Steps on Each Side	1	\$150.56	\$150.56
Cab Barrier Doors Bolt-On Weatherstrip	1	\$995.43	\$995.43
Locking Cab Door, Out and In, Loop Style Latch	1	\$850.30	\$850.30
Cab Door Window Sill Protection Stainless Steel	1	\$366.90	\$366.90
Full Height Interior Door Panels - Line X, 4 Door	1	\$1,005.65	\$1,005.65
Scotchlite Chevrons on Interior of Door Panel - 4 Doors, IPOS	1	\$190.54	\$190.54
Inner Door Panel to be Three (3) Piece Design for Service Access - 4 Doors	1	\$428.22	\$428.22
Stationary Viewing Windows, Cab Rear Wall - 22" x 6", Two (2)	1	\$156.88	156.88
Dark Tint Windows, Side Viewing, Rear Doors and Rear Wall, IPOS	1	\$304.56	\$304.56
Interior "A" & "C" Post Grab Handles, IATS (In Addition To Standard)	1	\$174.55	\$174.55
Front Cab Grille - Square Perforated, IPOS (In Place Of Standard)	1	\$767.00	\$767.00
Molded Black Rubber Cab Fenderettes - Front Fenders	1	\$692.88	\$692.88
Rosco West Coast - Heated/Remote Mirrors, IATS	1	\$540.22	\$540.22
Velvac 8" Extending Convex Mirror Above Officer Side of Windshield	1	\$333.43	\$333.43
Vinyl Schematics on Electrical Access Panel	1	\$164.00	\$164.00
1" Acoustical Insulation Cab Interior	1	\$572.68	\$572.68
Arm Pads, Engine Enclosure, Black Vinyl	1	\$492.67	\$492.67
Cab Interior Rear Wall Full Tread Plate Overlay, IATS	1	\$1,940.00	\$1,940.00
Engine Enclosure, Line-X Panels, IATS	1	\$2,435.00	\$2,435.00
HD Sound Proofing/Insulation Package With Aluminum Panels Under Engine Enclosure	1	\$1,686.00	\$1,686.00
Diamondette Scuff Plates on Engine Enclosure - Driver Side	1	\$168.00	\$168.00
Diamondette Scuff Plates on Engine Enclosure - Officer Side	1	\$168.00	\$168.00
Hinged and Latching Doors on Compartments Under Front Seats, Two (2)	1	\$411.56	\$411.56
Officer's Seat, USSC, Fixed Base, SCBA, ABTS - IPOS	1	\$791.00	\$791.00
Side Cab Compartments, Interior Finish Multispec White Marble Stone	2	\$126.73	\$253.46
Side Cab Compartments, ROM V4 Track Lighting LED, IPOS	2	\$184.73	\$369.46
Side Cab Compartments, Adjustable Shelf in Each Compartment	2	\$183.96	\$367.92
Storage Compartment for (3) 3" Binders (Top Load, Vertical w/Lid)	1	\$572.32	\$572.32
Drink Holders - Driver and Officer, Pair (One pair shipped loose)	2	\$129.79	\$259.58
Page #1 Total			\$19,008.40

DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE
Drink Holders - Crew Area, Pair (One pair shipped loose)	2	\$127.00	\$254.00
Straps With Seat Belt Buckles on Front Bumper Hose Wells, Two Per Well	2	\$228.00	\$456.00
Turtle Tile Material in Front Bumper Hose Wells	2	\$113.00	\$226.00
Hinged License Plate Bracket	1	\$196.50	\$196.50
Upgrade Front Axle to 20,000# Steertek With Disc Brakes, IPOS	1	\$5,950.00	\$5,950.00
Upgrade Rear Axle to 27,000# Meritor	1	\$1,950.00	\$1,950.00
Neway 27,000# Rear Air Ride Suspension, IPOS	1	\$4,216.00	\$4,216.00
16.5" x 8.6" S-Cam Brakes, Rear Axle, IPOS	1	\$652.00	\$652.00
Durabright Aluminum Wheels, IPOS	1	\$1,155.00	\$1,155.00
Provide Cummins L9 450 HP Engine and Allison 3000 EVS Transmission, IPOS (Credit)	1	-\$7,233.00	-\$7,233.00
Heavy Duty Radiator Skid Plate	1	\$525.00	\$525.00
Clutch Fan Override Switch - Manual Override	1	\$403.56	\$403.56
Clutch Fan Override Switch - Manual Override on Pump Panel	1	\$403.56	\$403.56
Heater and Coolant Shut-Off Valve	1	\$190.74	\$190.74
Allison DOC Premium Transmission Diagnostic Software	1	\$1,750.00	\$1,750.00
Drive Line Guards	1	\$624.86	\$624.86
Dual Fuel Line Shut-Off Valves	1	\$487.11	\$487.11
Fuel Tank Serviceability Provisions	1	\$201.00	\$201.00
Cummins Insite Pro, Engine Diagnostic Software	1	\$961.44	\$961.44
Delco Remy 430 AMP Alternator, IPOS	1	\$1,349.97	\$1,349.97
Battery Boxes, Stainless Steel, IPOS	1	\$750.00	\$750.00
Battery Box Cover	1	\$525.67	\$525.67
Kussmaul Super Auto Eject Receptacle, 20-AMP	1	\$588.50	\$588.50
Kussmaul Model 1200, 40-AMP, Battery Charger	1	\$1,512.33	\$1,512.33
Inverter, 2,000-Watt Outback Power M-Series	1	\$3,989.00	\$3,989.00
(4) Antennas Installed, Bases and Wiring Only	1	\$391.00	\$391.00
Hosebed Worklight Switch - Recessed	1	\$171.75	\$171.75
Control Switches on Pump Panel for Rear of Cab Lights	1	\$292.33	\$292.33
Automatic Fast Idle Option - Class 1 ES-Key Multiplex System	1	\$242.00	\$242.00
12-Volt Power and Ground Circuit - Behind Officer's Seat	1	\$212.00	\$212.00
12-Volt Power and Ground Circuit - Top of Cab Compartment, OS	1	\$212.00	\$212.00
12-Volt Power and Ground Circuit - Body Front Compartment	1	\$443.00	\$443.00
Page #2 Total			\$24,049.32

DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE
Rear Camera Guard	1	\$177.00	\$177.00
Whelen M6 Warning Light and M6 Separate Turn Signal Above Headlights	1	\$805.00	\$805.00
Dual Headlights, LED, Firetech HiViz	1	\$766.54	\$766.54
FRC Brow Light, Evolution II LED, 12-Volt, (1) Above Windshield	1	\$1,933.78	\$1,933.78
FRC Telescopic Light Pole Accessories (Steady Rest, Etc.)	1	\$1,345.32	\$1,345.32
Whelen LED F4N9QLED 92" Light Bar on Cab Roof, IPOS	1	\$891.72	\$891.72
Additional LED Lights in Light Bar, Per Pair	5	\$528.00	\$2,640.00
Upgrade Lower Zone Lighting to Whelen M6 From Whelen C6, Per Pair	5	\$425.00	\$2,125.00
Add Whelen M6 LED Warning Lights to Cab Radius, Pair, IATS	1	\$596.54	\$596.54
Add Whelen LED B6LED Beacons w/Lower M7, IPOS	1	\$822.34	\$822.34
Add Additional Ground Lights to Body, TecNiq #10, Per Pair, IATS	4	\$244.00	\$976.00
Ground Lights Activated with Parking Brake	1	\$258.43	\$258.43
Advanced Chassis Diagnostics System	1	\$1,492.00	\$1,492.00
Covers for Electrical System Modules on Frame Rails, Tread Plate	1	\$750.00	\$750.00
Upgrade Compartment Lighting to ROM V4 LED Track Lighting - Dual Lights Per Compt. (6)	1	\$2,756.00	\$2,756.00
Upgrade Tail Lights to Whelen M6 LED w/Quad Bezel	1	\$676.00	\$676.00
Add Intermediate Step Lights Under Rear Body Intermediate Step	1	\$477.00	\$477.00
Add Whelen M6 Scene Lights on Rear of Body, Activated by a Dash Switch and Reverse	1	\$1,467.98	\$1,467.98
Add FRC Spectra 900 LED Scene Lights Behind Front Cab Doors	1	\$1,815.00	\$1,815.00
Whelen LED 36" Traffic Advisor Arrow on Rear of Body	1	\$1,613.55	\$1,613.55
Traffic Advisor - Recessed in Rear Intermediate Step	1	\$775.00	\$775.00
NEMA 5-15 Duplex Receptacles Rear Wheelwells, Pair	1	\$358.66	\$358.66
Shut Off Valve for Air Horn Supply	1	\$156.98	\$156.98
Q2B Siren Fully Recessed Into Bumper, OS	1	\$674.00	\$674.00
Additional Siren Brake Control on OS of Dash	1	\$241.00	\$241.00
Pump Shift Manual Override	1	\$513.41	\$513.41
Waterous Anode Blocks - 2 Total	1	\$406.00	\$406.00
Waterous Pump Overheat Indicator System	1	\$745.29	\$745.29
Waterous Electric Monarch Valve - DS 6" Suction	1	\$4,150.62	\$4,150.62
Access Panel for Service of Monarch Valve - DS Pump Panel	1	\$561.00	\$561.00
Adapter for DS 6" Suction - 6" NSTF x 4" Storz 30 Degree Elbow	1	\$590.00	\$590.00
Waterous Electric Monarch Valve - OS 6" Suction	1	\$4,150.62	\$4,150.62
Page #3 Total			\$37,707.78

DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE
Adapter for OS 6" Suction - 6" NSTF x 4" Storz 30 Degree Elbow	1	\$530.00	\$530.00
6" Front Suction w/Chrome Swivel, 5" SS Piping	1	\$5,238.00	\$5,238.00
Waterous Manual Monarch Valve - Front Suction	1	\$3,950.62	\$3,950.62
Adapter for Front Suction - 6" NSTF x 4" Storz Elbow	1	\$481.00	\$481.00
6" Rear Suction	1	\$6,523.00	\$6,523.00
Waterous Manual Monarch Valve - Rear Suction	1	\$3,950.62	\$3,950.62
Adapter for Rear Suction - 6" NSTF x 4" Storz Elbow	1	\$481.00	\$481.00
Waterous 3-1/2" Tank-to-Pump Valve, IPOS	1	\$692.00	\$692.00
Upgrade OS Discharge to 4" w/Handwheel Control and 4" Storz Adapter, IPOS	1	\$3,864.33	\$3,864.33
Add DS Rear 4" Discharge w/Handwheel Control and 4" Storz Adapter, IATS	1	\$8,767.68	\$8,767.68
Akron Model #3416 "Apollo" Manual Deck Gun Kit	1	\$6,836.00	\$6,836.00
Slide-Out Steps Under Pump Panels, Each Side	2	\$819.00	\$1,638.00
Removable Access Panel on Front of Pump Enclosure for Service	1	\$588.12	\$588.12
Full Width Light Shield/Step - DS, IPOS	1	\$275.00	\$275.00
Full Width Light Shield/Step - OS, IPOS	1	\$641.23	\$641.23
Fuel Gauge on Pump Panel	1	\$641.23	\$641.23
Air Horn Control on Pump Panel	1	\$261.88	\$261.88
3/4" Pump By-Pass Cooler	1	\$271.88	\$271.88
Add Air Inlet/Outlet on Officer's Side Pump Panel, IATS	1	\$579.00	\$579.00
Upgrade Master Compound and Discharge Gauges to 6"	1	\$496.00	\$496.00
Reduce Water Tank Capacity to 600 Gallons (Special order "L" tank)	1	\$3,804.00	\$3,804.00
Add Water Tank Push-Pull Drain Mounted at Pump Panel	1	\$956.00	\$956.00
Provide 3/16" Flex Aluminum Body	1	STD.	STD.
Driver's Side Full Height/Split Depth Compartments, IPOS	1	\$3,970.00	\$3,970.00
DS Rearward Fender - Double Storage Slot in Wheelwell	1	\$746.56	\$746.56
Roll-Up Door Protection Panels (6)	1	\$750.00	\$750.00
Molded Black Rubber Cab Fenderettes - Rear Fenders	1	\$692.88	\$692.88
Add Intermediate Step, Full Width of Rear Step, Tread Plate	1	\$343.00	\$343.00
Chrome Folding Steps - Each Side of Front of Body	2	\$228.00	\$456.00
Chrome Folding Steps - Each Side of Rear of Body	2	\$228.00	\$456.00
Hand Rail Above Pump Panel, Each Side	2	\$148.00	\$396.00
Vinyl Flaps at Rear of Hose Bed Cover w/Galvanized Chain, IPOS	1	\$564.00	\$564.00
Page #4 Total			\$59,841.03

DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL PRICE
Tubing Reinforcement on (3) Hose Bed Partitions	1	\$978.00	\$978.00
Hose Partition - Handhold Cutouts Each Partition (3)	1	\$180.00	\$180.00
Amdor LED Strip Lights on Hose Bed Cover Doors	1	\$582.00	\$582.00
Upgrade Rear Body Unity Halogen Spotlights to LED	1	\$446.54	\$446.54
Pike Pole Tubes	2	\$273.44	\$546.88
Suction Hose Troughs, (1) on Each Side of Body	1	\$719.33	\$719.33
(2) 10' Sections of 6" Kocheck Lightweight Suction Hoses	1	\$986.45	\$986.45
6" Barrel Strainer	1	\$317.00	\$317.00
Dual Trac PAC TRAC in Upper Compartment	3	\$596.00	\$1,788.00
Add Alco-Lite 10' Folding Ladder, IATS	1	\$338.00	\$338.00
Custom Cab Interior Paint - Black Line-X	1	\$2,949.00	\$2,949.00
Multi-Spec White Marble Stone Compartment Interior Paint, IPOS	1	\$968.00	\$968.00
Fender Compartment - Multispec White Marble Stone	1	\$475.00	\$475.00
Custom Cab Roof Lettering - Push Dots	1	\$655.00	\$655.00
Additional Scotchlite Reflective Stripes - Dual Gold, IATS	1	\$1,396.00	\$1,396.00
Additional 1" Black Scotchlite Reflective Stripe on Body, IATS	1	\$793.00	\$793.00
Custom "Z" in 4" Scotchlite Stripe, IATS	1	\$249.00	\$249.00
Front Bumper Reflective Striping	1	\$706.00	\$706.00
Supply and Install Streamlight "Fire Vulcan" C4LED Handlights	4	\$230.62	\$922.48
Custom Reflective Lettering on Apparatus	1	\$5,000.00	\$5,000.00
Mount Customer Supplied Radio and Knox Box in Cab Dash	1	\$1,253.00	\$1,253.00
WABCO Toolbox, ABS Diagnostic Software	1	\$580.25	\$580.25
Upgrade to 2-Year Base NFPA Warranty	1	\$5,125.00	\$5,125.00
Upgrade to 10-Year Cummins Engine Warranty	1	\$1,127.00	\$1,127.00
Upgrade Waterous Pump Warranty to 5-Years Parts and Labor	1	\$1,393.00	\$1,393.00
Page #5 Total			\$30,473.93
Page #1 Total			\$19,008.40
Page #2 Total			\$24,049.32
Page #3 Total			\$37,707.78
Page #4 Total			\$59,841.03
Page #5 Total			\$30,473.93
Unpublished Options - Five (5) Page Total			\$171,080.46